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E. Brief Statements Union

gd

00 %k 0000000000 %$a NAnda {l+1}\And a_{l+2}\cdots \And a_r=x$[]

00000000 $is00000D0000Doo0od $n$000 $2$000000O00ODO

ud

goboogobobooobooobbooobboon

O00O0o0O00o0O0oboo0obO0o0ooO0obOoooDOoobo0boooOoswyuooOooooDOoooOoo
0000000000 $0$0

goobooobbooobobooobobooobbuooobboobbboobbooobbooobo
oo

gobogoboboooboooboobooobbuooobboobbbooobboooboba
goboboobbooobboooobooobbooobboobobbooobobuoouobbo
gobogobobooobooobbooobboobbooobbooobbooobDboooboD

goboooobboooboooboobooobbooobboobobooobobooobbuooooo
gbobooobobooooboo

000000000000 0DO00D0ODoo s 0000000000 0ooooDoooOon
goboooobbooobbooonooog

000000 $0n$s000000noooggd $0(n\log v)$H

CVBB ACM Team - https://wiki.cvbbacm.com/


https://codeforces.com/gym/102956

Last

update: ~2020-2021:teams:legal string:0 000 e nyiki cvbbacm.com/doku.php?id=2020-2021:teams:legal_string: %ET%BBY%B4%EI%IBIOFSEBYAESADYET %BBYB3%ECUAF%IAYEB%BS%IBUEB%AESBO%ESUHBD%I5:contest20
2021/09/23 0000 :contest20 -

17:17

const int MAXN=1e6+5,MAXK=1eb6+5,MAXV=63;
int T[MAXK], r[MAXK], 12 MAXK!, r2MAXN],cIMAXN];
LL w[MAXK],s[MAXN];
bool ans[MAXK], ok MAXK];
vector<int> vecl,vec2;
void solve(int n
vector<int> vec3;
mem(ok,0);

mem(s,0);
int i:vecl
s|1[i]|+=MAXK+1i;
siriil+1]-=MAXK+i;
12[11=MAXN;
r2[(il=0;
_rep(i,1,n

s[i]+=s[i-1];
cl[il=c[i-1]+(s[i]==

’

int i:vec2

c[r[i]]-c[l[i]-1]==
vec3.push back(1i);
vec3.size()==

vec3.size()==

int t=*vec3.begin();
int i:vec2
it=t
ans|i|=false;

int i:vec2
ans|i|=false;

int L=n,R=1;
int i:vec3
L=min(r[il,L),R=max(l[i],R);
_rep(i,1l,n
sli
s[i]-=MAXK;
s|1i]<MAXK
12(s[il|=min(12[s[i]],1);
r2isiill=max(r2(s(il],i);

int i:vecl
12[il<=r2/i
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12[1i]<=L&&R<=r2|1i
ok[il=true;

int i:vecl
lok|[i
ans|il/=false;

int main
int n=read int(),k=read int();
_rep(i,1,k

liil=read int();
riil=read int();
wiil=read LL();
ans|i|=true;

_for(i,0,MAXV
vecl.clear();
vec2.clear();
_rep(j,1,k

w jl=>>1)&
vecl.push back(j);

vec2.push back(j);
solve(n);
_rep(i, 1,k
ans|i

putchar('1');

putchar('0');
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